Name: Date:
Teacher: Class:
DAMS602

All four operations on one sheet

Why couldn't the butterfly get into the dance? Because it
was a moth-ball!

1. 2. 3. 4. 5. 6.
5)35 4)48 2)22 4)24 3)18 3)12
7. 5 8. 10 9. 5 10. g 1. g 2. 7
X 3 x 3 X 4 x 3 x 5 x 5
13. 89,461 4 33,159 1> 36,332 16 49,678 17- 24,700 18 93,033
— 54,965 — 25,832 — 33,204 — 49,021 — 4,329 — 17,954
19. 71,484 20 69,369 21 50,335 22 50,735 23 34,217 2+ 63,425
+ 9,895 + 16,240 + 73,342 + 45,849 + 69,113 + 7,780
25. 26. 27. 28. 29. 30.
5)60 2)4 2)16 5)20 2)8 4)20
3. 11 32. 10 38. 4 4. 4 35. 10 3 9
x 2 x 5 x 3 x 5 x 4 x 5
37. 52,850 38 53,251 3% 63,024 40 65940 4 62,367 4> 66,197
— 39,504 - 12,010 — 35,274 — 36,380 — 10,953 — 25,757
43. 04,491 4+ 64,482 4 85,231 4 94,091 4/~ 81,001 48 56,023
+ 86,288 + 4,608 + 67,655 + 14,782 + 80,344 + 29,987

© Facilitators Ferriswheel

Score:



Answer Key Date:
Teacher: Class:
DAMS602

All four operations on one sheet

Why couldn't the butterfly get into the dance? Because it
was a moth-ball!

1. 7 3. 11 4. 6 5. 6 6. 4
5535 2522 4524 3518 3512
7. 5 9. 5 0. 6 1. 5 12. 7
x 3 x 4 x 3 x 5 x 5
15 20 18 25 35
13. 89,461 15. 36,332 16 49,678 17 24700 18 93,033
— 54 965 — 25,832 — 33,204 — 49,021 — 4,329 — 17,954
34,496 3,128 657 20,371 75,079
19. 71,484 2. 50,335 22 50,735 23 34,217 ?* 63,425
+ 9,895 + 16,240 + 73,342 + 45,849 + 69,113 + 7,780
81,379 123,677 96,584 103,330 71,205
25. 12 27. 8 28. 4 2. 4 30. 5
5560 2516 5520 258 4520
3. 11 3. 4 3. 4 35. 10 3. 9
x 2 x 3 x b X 4 x 5
22 12 20 40 45
37. 52850 9. 63,024 40 65,940 4 62,367 42 66,197
— 39,504 - 12,010 — 35,274 — 36,380 — 10,953 — 25,757
13,346 27,750 29,560 51,414 40,440
43. 04,491 45. 85,231 46 94,091 4’ 81,001 48 56,023
+ 86,288 + 67,655 + 14,782 + 80,344 + 29,987
180,779 152,886 108,873 161,345 86,010

© Facilitators Ferriswheel

Score:



